
L 5 dL＝

5 dL＝

⑤ 3 L 1 dL ＋ 1

1 L④ 2 L 2 dL ＋

＋ 2 L 1 dL＝

L dL

③ 1 L 4 dL

L dL

＋ L dL

＋ 1 L 7 dL＝

＋ dL

② 1 L 6 dL

L dL

L dL

・ 計算をしましょう。

① 1 L 4 dL ＋ 7 dL＝

名まえ

日にち：　　月　　日
11

⑪ 仕上げ

＜ひっ算＞

＜ひっ算＞



6 dLL 5 dL＝ 4 L

L 7 dL5 dL＝ 3

⑤ 3 L 1 dL ＋ 1

1 L

3 L 5 dL

④ 2 L 2 dL ＋

＋ 2 L 1 dL＝

3 L 3 dL

③ 1 L 4 dL

1 L 6 dL

＋ 1 L 7 dL

2 L 13 dL

= 3 L 3 dL

＋ 1 L 7 dL＝

＋ 7 dL

② 1 L 6 dL

2 L 1 dL

= 2 L 1 dL
1 L 4 dL

・ 計算をしましょう。

① 1 L 4 dL ＋ 7 dL＝ 1 L 11 dL

名まえ

日にち：　　月　　日
11

⑪ 仕上げ 答え

＜ひっ算＞

＜ひっ算＞

1

1


